N = 0l & At & Ml A

20229 & 20& = 0IF=EALY M A
BN A=Y
M 20IFAY
SHel: BDAHELAL (FUEEAY) (sl &2)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
A= 333,934 294,113 39,821
= OIFERALY 333,934 294,113 39,821
SSAHAHFTHAG (I UFHAIY) 333,934 294,113 39,821
Z2ASSAHFTEY 22 L 2 333,934 294,113 39,821
101 @121l 177,556 95,068 82,488
04 JI2ZtH 22 XNEE 177,556 95,068 82,488
OolAd| (&elA& 8H,Js,3Ho=) 177,556
—ZelAad QAL (12IHE) 30,912,000 30,912
— SHAHOIZH (S HAIR) QAHHI(12DHL)
23,340,000 23,340
—JlsolsE (daaH) oA (12IHE)
28,692,000 28,692
— Zdlera ol AHH (12008 )«3¢2! 56,772,000 56,772
—4AU2E MG EEE 15,600,000 15,600
—Ag(AFDR, MY EX360
22,240,000 22,240
201 et A | 156,378 86,570 69,808
01 AFR2 2t 2l dl 34,120 23,680 10,440
O&IIASH| 450,000 *x23] 900, 000 900
ootmeze st3d2elssS 72 200,000& 12
= 2,400,000 2,400
O3Aa 24 =2 30,000+12& 360,000 360
OMBEIARE(2EMEXN,EH 5) Y
3,000,000 3,000
OOHIIE &Z2 )& 24| 100,000 *12&
1,200,000 1,200
O8I dx= 30,000 «1CH*12& 360,000 360
Oz K XHl 825,000& x12& 9,900,000 9,900
OFAEZ9H| 1,250,000& 128 15,000,000 15,000
Ou=dl (at=2,s2)+62! 1,000,000 1,000
02 352494l 122,258 62,890 59,368
O&dIIL2 2,700,000& x12& 32,400,000 32,400
Osa22 100,000& x12& 1,200,000 1,200
Oatote==22 1,000,000 12& 12,000,000 12,000
Ogtst2e| XH& 3 Hl 100,000 «13 100,000 100
ORdegtss 770,000 «12& 9,240,000 9,240
Os2J|12-™ A AHl 150,000& x2CH *13]
300,000 300
OIS UE 400,000& 128
4,800,000 4,800
O&J|et& 22| THed 900,000 =128
10,800,000 10,800
OAagotd 22| e 600,000& =128 7,200,000 7,200
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